Package Contents ® Packungsinhalt ® Contenu ® Contenido
del paquete ® EEEITDLT o HEERAR o B3 AP

0o o
=) o
=) mfem

MB171SP-B Device
MB171SP-B Wechselrahmen
Produit Manuel d'utilisation

Quick Installation Guide M3*6 Screws x 8 for Device / Key x 2
M3*6 Schrauben x 8 / Schiiissel x 2

8 x vis M3*6 pour l'appareil / 2 Clés

Bedienungsanleitung

Base de conexiones Manual de instrucciones
Ak HAE
ERES HAE

= LE- 4 WA

Tornillos M3*6 x 8 para el dispositivo / Llave x 2
M6 AF D (8fE) / FaTa4F—x 2
SRASHIMTR EAIRA% (M3x6) /SHERMRL x 2
ST TE FAIRLL (M3*6) /B kAR x 2

Device Information e Gerateinformationen e Informations dispositif
® Informacién del dispositivo ® Z{AZ5ER ® HE2ZR R © Hl{AKis AR

OPEN  LOCK

Front Panel

15 Pin SATA Power Port
7 Pin SATA Port
|

2 Pin Fan Connector
— 3 Pin Fan Connector

Back Panel

@ LED Indication - LED illuminates blue after the hard drive is inserted into the drive bay
(power button must be engaged) and will flash blue during drive access. The LED will
remain off if the drive bay is empty.

Status LED - Die LED leuchtet blau bei eingesetzter Festplatte (Gerat muss eingeschaltet
sein) und blinkt blau bei Zugriff auf die Festplatte. Die LED bleibt aus, wenn kein Laufwerk
eingesetzt wurde.

Indicateur LED - LED bleue lorsque le disque dur est inséré dans la baie (le bouton
d'alimentation doit étre allumé) et clignottante bleue lorsque le disque est en transfert. La
LED s'éteindra si la baie est vide.

Indicador LED - EI LED se ilumina en color azul después de insertar la unidad de disco duro
en la bahia de unidad (el botén de alimentacion debe estar activado) y parpadeara en color
azul cuando se acceda a dicha unidad. EI LED permanecera apagado si la bahia de unidad
esta vacia.

LED A% —5—(BREONLTHDDZ KIS 5T IL—52 TH R AT, HDDZE FHA BV
TIN—32TH Rk, HDDAEWEE T THEELELY)

LEDIE B (EiRFRALBENERELEDERBIES, HIEHNELED 2 BB,
SERERRI AR SR

LEDIERAT (IRIFBHABNERFLEDEEITIER, BAIZIMATLEDZ HATIRLE,
FEEMTIS)

2 Segment Key LOCK
2-Segment Schloss

@ Front Door Latch
Entriegelungshebel
Verrou 2 segments a clé Verrou de Porte Avant
BLOQUEDO para llave de 2 segmentos
#I% avk AAF
ZEHEE PR

Ak ITHRFF K

Cerradura de la puerta delantera

Fan Speed Control

Luftersteuerung

Controle de la Vitesse de Ventilation
Control de velocidad del ventilador
FAN RE—FHEaFO—F5—
BB R R B

KB EEE BT I %

Power Button - The cooling fan will turn on when a hard drive is inserted and device power
button is engaged.

Ein/Aus Schalter - Der Liifter wird automatisch aktiv wenn das Gerat eingeschaltet und ein
Laufwerk eingesetzt wird.

Bouton d'Alimentation - Le ventilateur s'allume lorsqu'un disque est inséré et que le bouton
d'alimentation est activé.

Botén de alimentacion - El ventilador de refrigeracion se encendera cuando haya insertada
una unidad de disco duro y el boton de alimentacién del dispositivo este activado.

BIRAAF (HDDERYFF7EEBREONLIIZEDAHFANITEB TEEY)
BIRFAR FERRENLMMEIRE, W5 EMED
BIRFX (BEBANFFBERE, KNEA B

3 Installation Guide @ Installationsanleitung ® Guide d'Installation ® Guia
de instalacion ® G DA AHFIBIZDONT o IR1ELSER o HRIES R

<A> Please use included M3*6 screws to mount the device into a 5.25" device bay. Connect the
SATA 7pin and 15pin power connecter to the motherboard to operate the device.

<A> Bitte verwenden Sie die beigefligten M3*6 Schrauben um das Gerat in einem 5,25" Schacht
zu installieren. Verbinden Sie das 7-Pin SATA Kabel mit dem Motherboard und anschlieRend
das 15-Pin SATA Stromkabel des Netzteils mit dem Gerat.

<A> Utilisez les vis M3*6 pour monter le dispositif dans une baie 5.25". Connectez les ports
d'alimentation SATA 7pin et 15pin sur la carte mere pour rendre le dispositif opérationnel.

<A> Utilice los tornillos M3*6 incluidos para montar el dispositivo en una bahia para dispositivos
de 5,25". Conecte los contactos 7 y 15 del conector de alimentaciéon SATA en la placa base
para utilizar el dispositivo.

A RBGHEEFET D012, 525 FSA TS DEBMDARETT , (HEBDOM3 * 6RZTHRIAFERS
ATRAIZEELET . AW BEDSATAS U A—TT—RERKDTHF—R—REHLT, £-ER
DSATA 15PinaRVALEHT NIV TV I RET TY .
<A> AERBEREAES 25" KW, 75 NMIBIMI+61R 44 % S B EHEE, EIHSATAIR OE)
F R B BRI E S AISATA 15PintEEE, & St ol #EIE ¥ RUENEE.
<A> K= RBEBEREES.25" KIFHEE, 1HHAHIRINS6IRL RERBIEHIK, EIESATAIR OE
EHUAR b R B ISATA 15PinsE 0, PR T 4EIE 5 B AE E-

M3*6 Screw

<B> Pull the front door latch and pull out the front door.

<B> Ziehen Sie an dem Entriegelungshebel und 6ffnen Sie die Frontklappe.

<B> Tirez la serrure de porte avant et tirez la porte.

<B> Tire de la cerradura de la puerta delantera y retire dicha puerta.

<B> FTRID&SIZ, ZAVM AR OLN—ZFRIFINTIAVENRILERITET
<B> fESMBENPIMRBAR, AFIETF @M BARLFIR .

<B> fESMEBITRFF X, SHEF EIMLEFBIR.

<C> Make sure the hard drive connector is in correct position and insert the hard drive. Close the
front door and press the power button to turn on the device.

<C> Stellen Sie sicher, dass der Festplattenanschluss auf der korrekten Seite liegt bevor Sie
diese einsetzen. Schlielen Sie die Frontklappe um das Gerat einzuschalten.

<C> Assurez vous que le connecteur du disque soit dans la position correcte et insérez le disque.
Fermez la porte avant et appuyez sur le bouton d'alimentation pour mettre en route le dispositif.

<C> Asegurese de que el conector de la unidad de disco duro se encuentra en la posicion correcta
e insértela. Cierre la puerta delantera y presione el boton de alimentacion para encender el
dispositivo.

<C> FLADHARIZEHE THDDEHRALE Y , HDDOIARY 2D EHOFEEL TIOU b/ SR ILER]
BB RA1VFEL Y,

<C> MERBIEMR EURIEHE QLB %, FRNTERE. HEZB EPIR. 2T BRMBMBINERER.
<C> WINERSHEROMER, MABE. BEXLIR, KRTREFXBIAEER.




Fan Replacement Guide ® Anleitung zum Lifteraustausch @ Guide de
Remplacement du Ventilateur ® Guia de sustitucion del ventilador
o FANRIEFE o ERBERTER o NEEMRTE

The device is equipped with a 80x80x10mm cooling fan. Any installed hard drive needs to be
removed before replacing the cooling fan.

Das Gerét ist mit einem 80x80x10mm Lufter ausgestattet. Bevor Sie den Liifter austauschen
kénnen, muss ein eventuell eingesetztes Laufwerk entnommen werden.

Le dispositif est équipé d'un ventialeur 80x80x10mm. Il est impératif de désinstaller le disque
dur avant le l'installation du ventilateur.

El dispositivo esta equipado con un ventilador de refrigeracién de 80x80x10 mm. Es necesario
retirar cualquier unidad de disco duro instalada antes de cambiar el ventilador de refrigeracion.

ABFHFANDH A X :80x80x10mm, HDDZRY [ THDHHE . £ HOHDDES L THhIEEE
EHELLD,

AEMREABRTAHB0x 80 x 10mm. FEUHNEFIEE, FEFRISMAERR.
AF=@RERTH80 x 80 x 10mm. FEHEABEFEREE, A HEIFESAERE.

80mm Cooling Fan

(Optional) A reserved space for 120mm cooling fan is available at the bottom of the device. To
install a 120mm cooling fan, please take of the black anti-vibration parts on both sides of the
device and follow the step below.

(Optional) Auf der Unterseite des Gerates sind Montagemdglichkeiten fiir einen 120mm Lufter
vorhanden. Um einen 120mm Lufter zu installieren entnehmen Sie die schwarzen Anti-Vibrations
Einsatze auf beiden Seiten des Gerates und folgen den weiteren Installationsschritten.
(Facultatif) Un espace réservé aux ventilateurs 120mm est disponible sur le dessous. Pour
installer un ventilateur 120mm, saisissez la partie anti-vibration noire sur les deux cétés et suivez
les étapes indiquées ci-apres.

(Opcional) En la parte inferior del dispositivo hay un espacio reservado para un ventilador de
refrigeracion de 120 mm. Para instalar un ventilador de refrigeracion de 120 mm, retire los
componentes antivibracion negros situados a ambos lados del dispositivo y siga el paso que se
indica a continuacion.

(FT ay) REGOERZIE120mmFANEIERANAHYFET . 3T BiES mAIHIRA S—Y%Est
LTHEEZEAFLLS,

GEIE) AREMEFTAZ120mE R EETL. ERFEFFRAFRENMEAERT 4 RERERE.
(B ARP=GRIRERTE 120m X B EEFL. FIRA T EIFEFAMBRET M sEHENE.

| NOTE e HINWEIS e Remarques ® NOTA o S5+t o j£5E o &it

1. All product specifications are subject to change based on the actual product description. We reserve the right
to change or modify any product specification(s) without notice.

Wir behalten uns das Recht vor, die Produktspezifikation zu dndern. Jede Anderung der
Produktspezifikation kann ohne vorherige Ankiindigung vorgenommen werden.

Toute caractéristique du produit est sujette a étre modifiée par rapport a la description actuelle du produit.
Nous reservons le droit de changer ou modifier toute caractéristique du produit sans en avertir.

Todas las especificaciones del producto estan sujetas a cambio en funcién de la descripcién del producto real.

Nos reservamos el derecho a cambiar o modificar cualquier especificacion del producto sin previo aviso.
R BEUN BRI BB OO FELRLEESNDBENHYFET .
ARARAARELNERRE, ERAIEUARYALE, WHME BRBTED.
KABRENEY RN, FRIEUSZIAME. NS, BRESITEM.
. ICY DOCK will not be liable for any software, hardware, or data stored within or interfacing with ICY DOCK products

which results in damage or malfunction. ICY DOCK will only be responsible for repairs and services of ICY DOCK
products.
Fur den Verlust von auf unseren Produkten oder mit Hilfe unserer Produkte gespeicherten Daten oder Schaden durch

jegliche Software oder Hardware die mit unseren Produkten verbunden ist, ist ICY DOCK nicht verantwortlich.ICY DOCK
tbernimmt nur fiir die Reparatur von und Dienstleistungen fiir ICY DOCK Produkte Verantwortung.

La responsabilité de ICY DOCK ne pourra etre engagée que pour le dysfonctionnement de ses propres produits.

ICY DOCK no asumira ninguna responsabilidad por ninglin software, hardware o dato o almacenado dentro
de los productos ICY DOCK o que interactian con estos que dé lugar dafios o errores. ICY DOCK solamente
se hara responsable de las reparaciones y servicios de los productos ICY DOCK.

AEROROTEAFEICL > THOMBISHELENRELIBE . B BEABEREZTEBEETIEFEAVES.
thOEBFOREFICHLTE—UOREZAVEEA,

MEATEERAAEREMERLAERREZHE, ALRAELREBERZBESE, EAERERIEHTEE.
METYEARFRAMERLCRXREZHE, FAAANGEARTRZRIERE, ERRETRERRERE.

. Due to different drive specifications for the drive access signal, some drives may not support the access LED.

If the LED does not function, but the user can read and write to the drive, it falls under this category. If the LED
does not function, and the drive cannot be read or written to, please contact us for troubleshooting.

Auf Grund unterschiedlicher Spezifikationen kann es vorkommen, dass manche Laufwerke das
HDD-Zugriffssignal nicht unterstiitzen. Dieser Fall trifft zu, wenn Sie Lese- und Schreibzugriff auf das Laufwerk
haben, die LED aber kein Zugriffssignal anzeigt. Sollten Sie keinen Lese- und Schreibzugriff auf das Laufwerk
haben und die LED auch nicht funktionieren, so kontaktieren Sie uns bitte zur zur Fehlerbehebung.

A cause des différentes spécifications des signaux d'acces, certains disques durs ne supportent pas I'acces.
Si la LED témoin ne s’allume pas, alors le disque dur n’est pas pris en charge, contactez-nous pour un
dépannage.

Debido a las diferentes especificaciones de las unidades para la sefial de acceso a dichas unidades, algunas
de estas puede que no admitan el LED de acceso. Si el LED no funciona pero el usuario puede realizar
operaciones de lectura y escritura en la unidad, dicho LED se encuentra dentro de esta categoria. Si el LED
no funciona y no se pueden realizar operaciones de lectura o escritura en la unidad, péngase en contacto con
nosotros para solucionar el problema.

HDDH HE B HE#RIEA—H—(CKYRLYFET BB ICF>T—EHAHDDM AR R DLEDS Y TS S TELRLVGE
AHYET, LT —2DHRABEA B LN ISRFISHELHYFLE A LEDFV TRV ERABETER
BE. ALEhECES,

B A FERRLEDSMER SR S ARIRIE R FIRE IR A WA PR R), B —LERRak Al sE S 45 A S AOLEDIR TR B SR
MREIFMELARE, AFRHERE NREETREFSTELHTHIR, HB&RM.
EAREALEDIMER S MMIERIBERRRE BRA AR, AL R F " RHILEDIERATATS .
MRMIBESIRA B, WAEWIRE, WREMERARENIELSEIE, HELEA.

. To utilize the hot swap function, the host must also support hot swap. To check if your host supports hot swap,

please refer to the motherboard or controller card specifications and user manual.

Um Hot Swap zu nutzen muss diese Funktion von dem Host unterstiitzt werden. Konsultieren Sie hierfiir bitte
die Bedienungsanleitung Ihres Mainboards oder Ihrer Controller-Karte.

Pour profiter pleinement la fonction Hot-Swap, vérifiez que votre configuration accepte également la fonction
Hot-Swap.

Para utilizar la funcién de intercambio en caliente, el dispositivo principal también debe admitir esta funcién.
Para comprobar sea el dispositivo principal admite la funcién de intercambio en caliente, consulte las
especificaciones y el manual del usuario de la placa base o de la tarjeta controladora.

7 )L TCHot-SwaphékeZ £ T %354 . HostfilHHot-Swapt eI b S B EAHYET .
EMTEL{EAHot-swaphIThgE, BllHostimth & #Hot-swapIh .
HaRSE L AHot-swapRITh&E, MHostimth 3B E H #FHot-swapIhg.

. For further questions or concerns about ICY DOCK products, please visit us at http://www.icydock.com

Fir weitere Fragen im Zusammenhang mit ICY DOCK Produkten besuchen Sie bitte http://www.icydock.de.
Si vous souhaitez obtenir plus d'informations sur nos produits, venez visiter notre site : http://www.icydock.fr

Si tiene alguna pregunta o duda acerca de los productos ICY DOCK, visite nos en el sitio web
http://www.icydock.com

ICY DOCKE RI<BI T 2B At (¥R D7R— LR —Thttp:/ /www.icydock com T 72 AL TS,
MAREE S ERER, W00 LRI TR http:/www.icydock.com.
AN % P BEL, FRI b i BE A 22 B W34 - hitp://www.icydock.com.,

CY DOCI«@ 'I'Ill'lloswall ‘ MB171SP-B
Tray-Less 3.5” SATA Hard Drive Mobile Rack

Copyright © 2013 ICY DOCK International. All Rights Reserved. 6501911 VER 2.0




